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a) (12 points) Sketch the graph of f(x)=2+ Iog(+3)
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2. Answer the following questions.
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e) (6 points) Solvecosx = -? where x is in[-27,27]
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a) (5 points) Find domain of f(x).
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b) (3 points) Find x and y intercepts of f{(x).
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¢) (5 points) Write the equations of the vertical asymptotes of f(x).
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4-) (15 points) Sketch the graph of f(x) =
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5. You want to invest some money at the bank for a year. The bank offers three possible
alternatives.

i-) 45% compounded annually
ii-) 40% compounded semiannually

iii-) 45% compounded continuously

a-) (12 points) Which of the above would be wise to choose? Explain your answer.
(Answer with no explanation would get no credit)
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b-) (6 points) If you choose option (b) and you deposit 10000YTL to the bank for 18
months, How much interest would you earn?
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